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221.5x% + 40.2xy + 252y — 102.8x — 440.4y = 3265.4
159.3x% + 70.5xy + 202.3y% + 74.1x — 179.8y = 1878.1
14.6x% — 5.6xy + 11.9y% + 29.7x — 84.8y = —142.9
17x2 — 5.1xy + 12.2) — 23.8x — 66.9y = —100.6
y=—08x+14

y=-05x+13 |:/7=‘

y=-02x+1.1

y=18
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y=—-03x+15
y=-05x+1
y=34x+3.7

30.5x% — 13.8xy + 1.6y% + 4x — 108.8y = 190.9
52.9x% — 7.6xy + 0.3y° + 69.5x + 286.2y = —53.5
(x+03)2+ (y—23)%2=02

(x+0.3)2+ (y—25)2=0.02

2.27x% — 1.0Lxy + 1.21y% + 3.38x — 7.77y = —12.3

X2 — 05xy+ 0.3y + L5y — L7y=—2.7

1.9x% — 2.2xy — % + 3.6x + 8.3y = 14.6
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H 88 : https://nlab.itmedia.co.jp/nl/articles/1601/24/news027.html
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H B8 : https://www.desmos.com/calculator/ifelzvtkl4?lang=ja
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